VPSC# 3
® 53
P % A
® TERFIt
1.45MRI5, B,
2HSTR, BTRH. BES;
IBMNBELRYE, ZREAHLE.
® 3521 NatE
O7R% | | USRS | | OFEOR
VPSC 300 10
1 2 K]
100: 10075l 06: 1/8
vesc: we I o T
300: 3005l 512
TTEIE)
1TWEEE0OR: PT3/8MI300ARSIEVE TR,
IEfAmGEITIEN: VPSC30010
® S
TYENR Z25(R40umDL SRR E)
BE0R PT1/8 | PT1/4 | PT3/8 | PT1/2
FREIEE MPalkgf/cm?) 0.05~0.95(7~135)
R E MPa(kgf/cm?) 1.5(215)
TIERE °C -20~70
AH R 25
FOESER | DR 200 450 1250 1650
El/min) | BEE 400 800 1500 2500
® R REBZZHMR
1 VERELE]
2 BUE
3 TRE
4 INFRIRIE
(&) 5 OfUE
6 ORI
| 7 HRE
© 8 FRAAE
9 TR
10 S 0RE

407

INODTOP

www.wodtop.com




VPSCZ 5

+

N ay—1
® /ﬁiﬁ'

VPSC100-06 VPSC200-08 {#M[E/1: 0.6MPa VPSC300-10 VPSC300-15 {#RE/I: 0.6MPa
2000
g ASC200:08 £ ASC300-15
£ 40 — £ 1600 o
= =
300 1200 o
ASC100-06
ﬂllﬂlfil 200 e UJIW:H 800 ASC300-1D
100 400
L e
0 | 0 = |
0123 456 7 80910 111213 0 1 23 456 7 89 10 1112 13
TTIRAEEE VTR EEE

® SMERY

A
ST 29K

2-P

VPSC300
2-L

18

CD
N
s
=
nim

NN
<

CA
©
=

CB
D

KB
2-P

N
A
\U

|.PA]

VPSC10006 3218 |52.5(47 | 26 | 8.6 |23 | M6x0.5 | M12x0.75 | 43 | 22 | 18 | M4x0.7 | PT1/8 | 10
VPSC20008 36 (18 |56.5( 51 | 30 | 8.6 |27 | M6x0.5 | M12x0.75 | 4.3 | 26 | 23 | M4x0.7 | PT1/4 | 13.5
VPSC30010 50|28 | 74 | 65 |40.5| 10 |37 | M8x0.75 | M16x1.0 | 5.3 | 35 | 32 | M4x0.7 | PT3/8 | 17.5
VPSC30015 50 (28| 74 | 65 [40.5| 10 |37 | M8x0.75 | M16x1.0 | 53 | 35 | 32 | M4x0.7 | PT1/2 | 17.5

www.wodtop.com WO TOP 408



	3方向控制元件
	单向节流阀 VPSC系列


